Question Paper Title : TI_16

Date of Exam : 11-07-2019 02:30 PM

Reference ID:(10234)  URIER] PTGl
88, 98, 48, 28, 38 & 18

A.88
B.48
C.18

D.53

Answer: D.53

Reference ID:(9927)  WTaH faaiedl XIsGuHgIqH SHHTIT UK Xst YA i,

A G- gl gledT, o=
B.HaT- gd, I, a4
C.HH3- g4, g, T

D §RR- IR, IR, TS

Answer: C.pHa- JH, JH-, YWY

Reference ID:(10210)  HRAMd Wieiiadas! Hivra fowmToft Saucdt fRrarsht HeRTer for &= gt
RATSIEA FoRPbed dad gld?

Afemit

B.&STgR
C.3BHETR



D.3{UI

Answer: D.3TUI

Reference 1D:(9940) PTG OR Sl aid =] a8 H.
.......... UICISIRIGH

Answer: D.?[

Reference 1D:(9915) Choose the most suitable determiner for the given sentence:

She always keeps money in her wallet for emergencies.

A.any
B.every
C.some

D.much

Answer: C.some

Reference ID:(10224) 33 iy = W <a:

A. 3T ST YR RIAT ATe Ul

B. <RI gHAT TSI OTa &l



Answer:

Reference 1D:(10227)

Answer:

Reference 1D:(10239)

Answer:

Reference 1D:(10213)

C.U3H SHS BRI Ao el YR
D HemT=ar RiT-TdY aTuRe SUIR UTe Siaar Rie.

C.U3H SaHS BRI Ao el TR

<= et ITea, SfEd SNfOT YRR IAHM 99 IR H 7:4:9 T ORI TR,
3116 quigdl, e gt SIS 56 BIdl. AT IaH auid Heifdd onR
PIEI?

A.8 TY, 20 9, 28 98

B.28 9¥, 16 aW, 36 9¥

C.20 9%, 35 W, 45 9¥

D.13 a¥, 16 a¥, 25 T8

B.28 @Y, 16 dV, 36 dY

STl 3rbd IO Afgera 5 Hiex urodmeR faud 3 o WidTe THU disl
fopdit?

A.12 HieR
B.10 HIcX
C.9 HIY
D.8 HicY

A.12 G’

ity yegieelt feft .



Answer: CMH

Reference ID:(10212)  HRATd WA DIV ISATHED NS T8 IHARY f¥Yd 31?2

A FACH
B.3{TH
C.HY U

D.Uf¥# §d

Answer: B.3HMH

Reference 1D:(9911) Choose the option with the appropriate suffix to complete the given
sentence:

The dog made himself comfort in front of the cooler as it was a very
hot day.

A.-sion
B.-tion
C.-able

D.-ing

Answer: C.-able



Reference ID:(9928)  faoiedn Wsgrerd favgrd 2rsq i,

BT — URGR[PB X =mmmmmmmee

A2

B.Sfgd®

C.3[UReTf®

Answer: C.S-I'EI'ITQ"‘\’W

Reference ID:(10237) U 3R CUINITA! WIdid HIlgddl dl@oiyad 3T H.

3DK$P27#@4JTH9*FMR15%?768

TTeid grale! IR g avia AreuiiAdie e R Siemid fafky ger
AR 3fTgd ATHes Tl Teb 1€ d-dl. DIuT T TR Hafdd gl

A.8%
B.9M
Cc.@T

D.$7

Answer: A.8%

Reference 1D:(9906) Choose the correct form of adjective for the given sentence:

They missed a opportunity.

A.huge



B.big
C.golden

D.major

Answer: C.golden

Reference ID:(9932)  WTAlId ATdATdId SRR Weara fofiT iz,
(TS HID 3TUTaH.

Answer: B.Eﬂﬁ‘m

Reference ID:(10229)  Uahl dlcsl Y, 7 Sf&R 3M1f0r 21 Rad 3M18d. SR defwdsd Tumed dlext
Pledll, IR diery e ugr YU B 3T?

A1/4
B.2/5
C.3/5

D.1/10

Answer: A.1/4

Reference ID:(10222) 48 HdeR YUHYH 2019 T YHT RASU[d deduary Id Sldexidar uRad
QU1 UhHd AT ATd BT 3{Tg?




AJTR U

B.HEOUCY

C.HERTY

D37 U

Answer: C.IITsT\"Ig

Reference ID:(25011) 450 $UTAT &I 100 YHRTG WGl bl T 60 TYY Ul ST axH
it faget ®uard 3i7ell. 9% fohdT dicaTe Tadhan! 3Tg:

1 12% T

91 op arer
11

1294 =TT
11

9%% arer

Answer:

1 12% =TT

Reference 1D:(9902) Choose the option that has the correct spelling.

A.Maegistrate
B.Magistrate

C.Magestrate



Answer:

Reference 1D:(10232)

Answer:

Reference 1D:(10228)

Answer:

Reference 1D:(10245)

D.Magisttrate

B.Magistrate

74 Qo> 3107 106 Ul UHUT fhHd 1910 $UY 3178, TR 106 J&idh HTfUT 74
Uil TR UT fohd 2230 I 3115, Th G SHTI0T T UATe fhad FIal:
A.25 30

B.37 W

C.30 ¥W

D.23 3w

D.23 30

ST 9 § aTedT aredT gaTedT diF Uc Mg, el Juigdl, S 99 §

Taesed] A<l JaTedT aared] UrIue gid. SWTd aadT 9 P,

A.35 T8
B.36 a%
C.37d
D.38 a%

B.36 9%

YT 5% Tl 3iTg. 8 ferex guTd fabdl Y gY MAuesTd drld Siuide- g1udTel
THI0T 4% BIga?

A.3 ferer
B.2 forex



Answer:

Reference 1D:(9929)

Answer:

Reference 1D:(10231)

Answer:

Reference 1D:(9944)

C.4 forex
D.1 ferex

B.2 forex

feoe rsarTerd favgrdf weg aftes.
T e g ) o D Q—

ATITS!

C.3far=

D.HY

C.3far=

HTe! WUl 18 JAHY UHARE! SRUHR fIasid et Bt D G
R uT=T W udie ST g1 Yefiedl Y5 d gidt, ST fdaRuMHdR 6
WUt d1h1 fgall. WS THUT HAT BT gIat?

A.324
B.330
C.336

D.320

B.330

Yot araiadie favieor sfiear.
HHT aTed g dls, YOI fo=al SHTEr SRPT SeRawd 3G,




B.3XPI
C.odRadd

D.UUl
Answer: C.odRad

Reference ID:(25012) 40 foaRia WRaR 30T UTUTT=AT 2% STGUNET 10% STGUTTIT ATGauaTa!
fpall fhaRig Yg TR fyes el Sl gal?

9 St
3— fohar
=
3—frar
S
0 forar

O— forar

Answer: 5 -
3—Thar

Reference 1D:(10248) RFrear geamed @Rl Reer #is 3T g IR 3WaR THgTAT G/

Hhaaes, T HE.
ser |[PID[A[F|L[H[M[R[K[T[BJE]|U

S3g|3|6 |2 (8|S |42 |7 (@951 %

3e: ST Tfger & TR 3T AT Age=T HaT halal e, o lealal 0 3 dHedeg dol

S
‘EDRTMP’ HIS! I Hehd HTR?

A.067920

B.167932



Answer:

Reference 1D:(9905)

Answer:

Reference 1D:(10223)

Answer:

C.169721

D.067923

A.067920

Out of the following options, choose the rightly punctuated sentence.

A.Then there are the can't do types” who want to maintain the status quo.
B.Then there are the “can't do” types who want to maintain the status quo.
C.Then there are “the can't do types” who want to maintain the status quo

D.Then there are the can't do types who want to maintain the status quo!

B.Then there are the “can't do” types who want to maintain the status quo.

PHIUTT S THTHEHS f9d geaauiiard! TH1uaesl o8 Regaw
& il RO WewiHdiead yrfiert bt 3me?

Ad® 3T e (dfanem)

B.d% 31t HERIY (dl3ITH)

C.9% 3T §eRIETT (Sr3iida)

D. YR We g% (THSI3AT)

B.d% 31t HERIY (dl3ITH)



Reference 1D:(9933)

Answer:

Reference 1D:(9942)

Answer:

Reference 1D:(9949)

Jaid arTe UhR Sieswl.

e d¢ USdl @R IV dRUU[GIarH del gldid.

A TsTef

B.fay ar

C.Tgd a1’

D.pad i

C. GG a1’

c forarfavivo srag
D. 3/

c.forarfavivo srag

% 9 SNAr a1 Ysaidid Ufgelt ol ST YhRd! SHTga?

St

A 3T

B.dlcicq




c.gd=

D.&%&d

Answer: B.dldd

Reference ID:(10216) 10 ATH 2019 ol Hoid SN YRET & (HATITITE) °T 50 a1 RITIT
feag Y mOifoId HRuand ST,

A fameamae g
CRIIERICI
c.Auer

D. G
Answer: B.TIT%I'Q'IEI'IE’

Reference 1D:(9920) Choose the correct form of conjunction for the given sentence:

The children went to see the horror movie, they had been warned
not to do so.

A.since
B.as though
C.as

D.although

Answer: D.although



Reference 1D:(9919) Choose the appropriate prepositional phrase for the given sentence:

The little boy was continually the toys the shop.

A.tripping over, at
B.falling down, with
C.breaking up, around

D.knocking over, in

Answer: D.knocking over, in

Reference ID:(10201)  J&id arddTd GaRATdId 3 dTeRER FHagl.
Tyl NSiwearer Argfoidma e gud g .

A Bryas 3o 8o

B.3%e 31Te fawe fagk giul
C.gadmeArd Usul

D. 31 g1l

Answer: Aﬁ‘ﬂ?ﬂ 701 g0t

Reference ID:(10225) QgAY ATORAT SITUMRT AT €Y GRAGUIRT 3RAT 3.

A.3{ddss 3R
B.3aXIT 3R

C.quIc ARl

D.gfede® 3R

Answer: D.E%Tfﬁ 3Rl



Reference 1D:(9914)

Answer:

Reference 1D:(10246)

Answer:

Reference 1D:(10241)

Answer:

Choose the correct form of verb for the given sentence:

| have often , why they went to live abroad.

A.wondered
B.surprised
C.thought

D.puzzled

A.wondered

3{eehlgierd JHIT 10% 3 ciedT Ul 500 A 1qud fardl Y Sfedbigia

BN

CThTd AT S0 T SIaUNTdTd 3fchigiare UHTU 20% Bled?

A.62.5 Tt
B.45.5 ot
C.50 foreit
D.60 foeft

A.62.5 et

GRA:B::6:113‘ITﬁ[B:C::6:7,?‘RA:C::?

A66 .77
B.36: 77
C.36: 66

D.6:13

B.36: 77



Reference 1D:(9910)

Answer:

Reference 1D:(10206)

Answer:

Reference 1D:(10203)

Answer:

Choose the option with the appropriate suffix to complete the given
sentence:

The most senior teacher was given add charge as principal.

A.-ing
B.-ition
C.-itional

D.-ed

C.-itional

HERTY YR 19 e St RTfud giret?

A.7 S[a 1990

B.8 Ict, 1991

C.10 S, 1992

D.15 [, 1999

B.8 Jct, 1991

WAt HIv T SAERITHE T HTHRITS! URE < H SIHRM
Ui SISl Uiasd S Sl YRR fSidbe?

A TS HUgH

B.TYH SUR[hY

C. TG HDHave A

D.SToIer e

A TSI GTHUGH



Reference 1D:(9921) Choose the appropriate conjunction for the given sentence:

The proposal cannot be considered valid it is signed by all the
existing members of the Board.

A.unless
B.whereas
C.however

D.but

Answer: A.unless

Reference ID:(9946)  Uold dlaided IRy o 3 e,
HTURATET I 89 - 4, BT 39S U g

NG|
B.OUT

cd
D.O

Answer: NG|

Reference ID:(10219)  Ud U4 % HIG! Tt "TUE 2019-ATH 2020" &1 &9 T TI¥d dbal?

A FTYHH-d= Iy
AREIUASERIECL]
C.qaYd Jfaur-1d Iuhd Iy

D.3(F-3dTe ay



Answer: A SiYDBTH-dF]ME ?ﬂf

Reference 1D:(9909) Choose the appropriate collective noun to complete the sentence:

A is a group of dancers.

A.troop
B.troupe
C.team

D.committee

Answer: B.troupe

Reference ID:(10218)  3fidl $icie U d&ffied ARG 2019 AL Hfgal Ths) divil fSidwetl?

AD9 b3
B.TS g R
c.dt.xl. Ry

D. TS 3NERT

Answer: AT gav_if

Reference ID:(10204) 1992 A WA BI0TAT SENTU HRA Id [RIBR foldha gidT?

A 3R E1.2TeT
B.UTS SiaTT
C g oirsl
D. 31SiH YHSil



Answer:

Reference I1D:(10215)

Answer:

Reference 1D:(9925)

Answer:

Reference ID:(10221)

AS.3R B.eTel

WTeierdes! Il FeT ST W e &Y gidt gihe-2018 fSiwe?

A HRA UdTe TR §idb! SBIGHT
B.3mHT X TFTR
C.HHYCT Bidh! HBIGH!

D.UlTe U

A HRAT UidTe U@ Rue! Bidh! SBIGHT

Choose the correct form of tense for the given sentence:

The coach asked Jennifer, “ your tennis yesterday
during the time to you?”

A.Did you practice , allotted
B.Did you practiced, allot
C.Have you practice, allotting

D.Are you practicing, allotted

A.Did you practice , allotted

ROINTS SITR § HERIPTAT TSfRIcH foegmeie GINCRIGARIG
3{T8d.

AHRA!

B.3fex1

C.Tcuedl



Answer:

Reference 1D:(10240)

Answer:

Reference 1D:(10211)

Answer:

Reference 1D:(9918)

D.YIST

C.eTc!

100 Hex 3M1fOr 200 Hiex Aidlt T g Yed T fawg fe= areft 100 fomet
30T 80 fohHt AT RTRIT SNATSUATY fhclt A ATI?

A5 g
B.6 g
C.7 qdba
D.8 bc

B.6 I&hg

QIeleiieh! HIvTAT G5 fob=TRT 81 HERTYTAT IARR]T foregimaed Rid 3me?

ASg
B.EXATs AT J& 8
C.dSl SgI[

D. 3fferemT

B.EXATs AT J&8

Choose the appropriate prepositions for the given sentence:

a man his age, he is very good shape.

A.From, to, for

B.From, of, from



C.For, of, in

D.To, at, in

Answer: C.For, of, in

Reference ID:(10247)  3f faUMTId 75 faemaia SRR 9o 60 foralt 3ig a) &ra aiidedn §
fquTIia 25 faemate TRRY aoF 52 fdl oiig. a) &1 aafdid WTesT 100
A.52
B.56

C.58

D.60

Answer: C.58

Reference 1D:(9926) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The glass on the window could be seen through easily and everyone
liked it.

A.Designer
B.Transparent
C.Opaque

D.Cloudy

Answer: B.Transparent



Reference ID:(10244) SR 5 STHART 1991 &1 VAR 8IdT, O ATE 3, 1992 AT SIS HIvId fead
gIar?

ATHIR
B.HTdR
C.gUdR

D.T¥aR

Answer: B.HI[&dR

Reference 1D:(9939) JURRAT feharaarT 9 TR 3iswl.
HTH G P 3.

A.HTd

B.SHUI
C.Ha
D.gfed

Answer: D.g1ferd

Reference ID:(10451) T e FAES, T FI0TdY 3T A5

lee oDhe =1 1 o0
00 oce o00 0O
L L = 000 o900 o000

i ] i




o000
o000
200

o000
00
©00

L 4 Qi
o000
=1 1

Answer:

00
00
£00

Reference ID:(9950)  JaId ATuRIRI<AT A1 SfyTdT Uaid e,
PHeR G-

AIRING Yehal SToraul

C.d®c HIgesul

RARREURIL

Answer: DRI Eﬂﬁf

Reference 1D:(9937) TR TAT 3R TR IV T AT dTRITC T SRSAT T,



A TYH-dRATd

Answer: c.fgdig-araad

Reference 1D:(9913) Choose the appropriate articles to complete the given sentence:

There has been accident. truck hit boy who was cycling by
side of the road.

A.the, The, a, an
B.a, A, the, the

C.the, The, an, the

D.an, A, a, the

Answer: D.an, A, a, the

Reference 1D:(9922) Choose the most appropriate usage to fill in the blank in the given sentence:
The parents asked the principal to his decision about the
Sports Day.

A.unconsider

B.reconsider

C.considered

D.consideration

Answer: B.reconsider



Reference ID:(10220)  Wciaides! HIUTAT ITUTET 1 ThgdRT 1818 ol YfgRies WIaRT G
Bl glal?

AT Tt
B.derRal

c.faa

D .foegH i

Answer: AATS EEOGFCF ‘I[ﬁb_r\‘?q

Reference 1D:(9930) SICRIEAR R R CRE CECI

A SNRBIC
B. HTSITaTaT

c faedis
D.HTRg®H Sl

Answer: c.fagmdie

Reference ID:(10230)  Te 10 IYcsal SiTd. STAT TS TARIT THTTAT BT 38?2

AA1/2
B.1/3
C.1/4

D.1/5

Answer: A.1/2



Reference ID:(9931)  GIIG¥leq AUIdT Xeg ST

A.HTSUIdeT
B.dcTeRael

C.aMR
D.YRTol

Answer: C.al1RR

Reference ID:(9938) U1 yafarit fAgs .

Answer: c.usa

Reference 1D:(9934) L\J,Gnlﬂ I YR 3T,
0 g-ag Ui UTfea SNfoT wate Steard uroft 39 fga

A gt
B.fary o
C.Hgd a1’
D.had a1

Answer: C. GG a1’



Reference 1D:(10236) GIR A =1, CAT =24, dX POLICE = ?

A.57
B.60
C.62

D.59

Answer: B.60

Reference 1D:(10238) T ol gy et fRagH s qui ax:

1,3,7,15, 31,

A.60
B.65
C.62

D.63

Answer: D.63

Reference ID:(10243)  3=ft afd ae™ T& vk 3 d S 30375 @1 HFTQ 31T Jum=a
YRTTHRT TTH5 U B> Khal?

A5

B.25

C3

D.9

Answer: D.9



Reference ID:(9947)  Ueld Jald aITdiId favHfer g 3ficsl.
v AR SUMNS-HER T TRUTH e 3%
A.TaNTRg
SRANEE

C.3{aRU I8
D.UYg

Answer: A.@Tﬁlr_ﬁ'

Reference ID:(10233)  RMAME YdhTesd dTgHM 0°F. =1 aR 5°F. 3T 0T HATHT dTIHH 07
=T @Ielt 309 3Te. dIHHH fddl dad Aar?
A.5°C
B.7°C
C.8°C

D.2°C

Answer: c.8°C

Reference 1D:(9917) Choose the correct form of modal auxiliary verb for the given sentence:

Walk carefully lest you fall.

A.could
B.need
C.would

D.should

Answer: D.should



Reference ID:(10242)  Wcitaides! DI TReAT Ueh quf o AATg1?

A.2025
B.14641
C.4761

D.1152

Answer: D.1152

Reference ID:(10217) 8 9 fuex 3iifeifUes o RArAT 17 E’iAed 51 fGaui=n YMeR STHRRMGR 6
TO@ 2018 Y GHIE FTal.

A FTTAR
B. T4t faealt

Answer: D.4&%

Reference ID:(10226)  WTaiicdd! IurdT Sfdds fawe gomy uery smg?

A AT HUS]

B. AT ot SiTod
C.WReHd! a%q
D. Ui ursy

Answer: A AT HUES]



Reference 1D:(9924)

Answer:

Reference 1D:(9941)

Answer:

Reference 1D:(9908)

Out of the following options, identify a compound sentence.

A.We usually greet whenever we see our teachers.
B.The pen is mightier than the sword.
C.Mary’s lamb followed the girl wherever she went.

D.The family had no provisions, nor did they have the money to buy them.

D.The family had no provisions, nor did they have the money to buy them.

Yaid arTdid S{euard UhR 3l
‘3R A1 BT A T gl Srorar aaqr

A YTl 3eqy
B RTecdlTil 3reqy

C BNl 3o
BAERIIERI I R esps)

C. By 3/eg

Fill in the blank with the correct noun for the given sentence:

Flashes of happen in practically all areas of human life.

A.perception
B.inspiration
C.expiration

D.interaction



Answer: B.inspiration

Reference ID:(10208) 17 STHART 2019 3ol ‘GHaATd fadmaiT TAdT dioH (STSIeRud) ot
UTe 1% aRkee $& Sford dbal el gidi?

ATSES
B.faeit

Answer: A.EIEI'Sc

Reference 1D:(9945) Y Teq TR

C.IRT
D .IRY

Answer: C.IRT

Reference 1D:(9923) Choose the correct form of verb that is in agreement with the subject:
The cost of all these articles risen.

A.has
B.had
C.are

D.were



Answer:

Reference 1D:(10207)

Answer:

Reference ID:(10235)

A.has

MM 2019 TG ISATAT GShTes-Had HRUITA TRATas
S RIAR " Ydhed Y= ahal.

A.USTd
B.AH U

C.FERTY
D.ToRTd

C.TERTY

ﬂﬁﬁwwwﬁﬁﬁwwwmwmw
?

110-110/1 Sukhumvit Road, between (Soi 4-6) Bangkok 10110, Thailand
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(ii) 110-110/1 Sukhumvit Road, between (Soi 4-6) Bangkok 10110, Thailand
+66 2 656 8220

(iii) 110-110-1 Sukhvmvit Road, between (Soi 4_6) Bangkok 10110,
Thailand
+66 2 656 8220
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B.ii



Answer:

Reference 1D:(9907)

Answer:

Reference 1D:(9948)

Answer:

C.iii

D.iv

C.iii

Choose the correct form of adjective for the given sentence:

The candle flickered and went out.

A.burnt
B.bright
C.lighted

D.big

C.lighted

YT faHTd =T Yo 3R [AUTTTaaiue SEUMR dies Ul $HIurd?

ATYHAT faHeKiTd Thaad d 3 adHId Y .
B.UYHT faHerile Uy Hely R SR

C.uymT favedia yerg =1, ff, 3 7 oime.

D. 9T fav e g SR Jd faHekd! YaiRE S,

A YA AU Thaad d b aaTd U T9dTd.



Reference 1D:(9916) Which of the following options best combines the two given sentences?

Sita has a pen. Sita has a pencil.

A.Sita has a pen but a pencil.
B.Having a pen, Sita has a pencil.
C.Sita has a pen and a pencil.

D.Sita has a pen, she has an pencil.

Answer: C.Sita has a pen and a pencil.

Reference ID:(10214)  HERIZHE 2014 =T AlbaHT HasUbHe TTSugR fodt ST fSidbean
gIm?
A.35
B.38
C.40

D.41

Answer: D.41

Reference 1D:(9943) TTeTd H SYUIRT Yeg; 3o,

AUST
B.YUTS
c.fIure
D. il

Answer: c.furs



Reference ID:(10202) 2014 A TR ATcicd] HIUAT A4 HRGH IISAIITST, ThT AT 3

AT BT HRUGN 1 THART, 2019 IR gard bet?
NG

B.3TRIAS

C.IREe

D. BTS

Answer: NG S

Reference 1D:(9904) Choose the appropriate option with the correct punctuation marks for the
given sentence:

january and february are often cold wet and grey in Portugal

A.January and February are often cold wet and grey in portugal.
B.January and february are often cold wet, and grey in portugal.
C.January and february are often cold, wet and grey in portugal

D.January and February are often cold, wet, and grey in Portugal.

Answer: D.January and February are often cold, wet, and grey in Portugal.

Reference ID:(9936)  Jeld dladd SeRAIddR 35wl



A HRATGRIE TSI
B.ITHTd
C.3ma

D.IgTd

Answer: A HRATRIA SIS

Reference ID:(10205)  fASU AN JTHTUMRAT ST THLIT AdR T Aqufiesi=
arRIfa% e fofg gaar

INGEIEIEIH
B.3ffqatarg
C TSI

D.dRITd

Answer: INGEIEIEIM

Reference ID:(9935)  Ueld aiad i ARY T 3.

A9 g-GIC §1d aRT gHd.

B.aOQ\'CQI dclc d-ld dIRT YHIdld.

C.dex e U-aIe §Td aRT gHdl.

DA AT U-IGIC STl aRT o,

Answer: C.dex a1 Y-aIe §Td aRT gHdl.



Reference 1D:(10209)

Answer:

Reference 1D:(9912)

Answer:

Reference 1D:(9903)

uferd it 3= Tt 2019 wefd 3¢t wrsH auf<h Afger Hzen (@a Hgan e
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Choose the appropriate articles for the given sentence.

It was dusk by time we reached Cape Town, one of
most beautiful cities in the world.

A.the, no article, the

B.a, no article, the

C.a, the, the

D.no article, the, the

A.the, no article, the

Choose the option that has the correct spelling for the missing word in the
given sentence:

Thomas’s of stamps is magnificent.

A.culection
B.collection

C.collecation



D.collection

Answer: B.collection

D.collection



